o
I

L

M3 F E

TH3EEEREEERF (FOEMRK) EF (RR) RFERNHITE

S 75 Bk

3 %
17 =
= =
B o#Mo

BEES

EE SRR

BREEEE
BEREMBHERSEE
IXE

18-19-21-052



BEANRE SHBEEEEEEE GHOEMR) EE R ERBERM TS

4 [ IR - WAKTiE By B = B {f & % =
EEIEZE 82,257,939
EE (BR) 82,257,939
EE (BR) 82,257,939
BEYRET 1,806, 131
ERUIMT 1,549,576
1 RV Co (£E#H) 14.00 110, 684 1,549,576
m2
g 124, 241
2 EREE Co (£E#H) 13.00 9,557 124, 241
m3
EhEE R B R 39,774
3 AR hR B R 42.00 947 39,774
m2
RETDSHEE 78, 030
4 RETDS58E 102. 00 765 78, 030
42-%
BEMIER 4,910
5 BE#ER B73 1.00 4,910 4,910
&l
BEMas 9,600
6 ML ®B73 0.24 40, 000 9, 600
t
#HE - iRET 12,396, 197
HER 2,076, 400




BEANRE SHBEEEEEEE GHOEMR) EE R ERBERM TS

1 HER #A100~300kg/(EFERE (BBAH) 358. 00 5, 800 2,076, 400
m3

BHEREA 447, 256

8 WEBREA 296. 00 1,511 447, 256
m3

HEHLOD 555, 050

9 WEBHLD 170. 00 3,265 555, 050
m2

BHEHLO 749, 056

10 HEBHLQ 209. 00 3,584 749, 056
m2

mEdD 3,252, 480

1 280 30~20mm t=30cm 1,280. 00 2, 541 3,252, 480
m2

mEQ 2,397, 255

12 EQ@ 5~2.5mm t=20cm 1,343.00 1,785 2,397, 255
m2

BREb S — FERERD 2,918, 700

13 B s — FEERD 1,725.00 1,692 2,918, 700
m2

ES/NEE S 4,807, 250

BmaEQ 1,217,760

14 2ER 30~20mm t=30cm 172.00 7,080 1,217,760
m3

mE® 930, 560

15 BE@ 5~2.5mm t=20cm 128. 00 7,270 930, 560
m3




BERNRE SHEERESERGEOEBR) BRERRERMETE

BEb S — FERERQD 2, 658, 930

16 BAR S — FBERQ 789. 00 3,370 2, 658, 930
m2

HET 11,539, 751

EAUL—)D 3,585, 584

17 \2AWL—X)@ 17,542. 00 204. 4 3,585, 584
m3

EAUL—X)@ 204, 400

18 A (L—X)@ 1,000. 00 204. 4 204, 400
m3

ITHEEHRD 5,104, 722

19 TWEEROD TEMEMEIC L 5ER 17, 542. 00 291 5,104, 722
m3

THEERO 475,100

20 TREEROQ ERWIREBIGAT ~ I &R 1, 000. 00 475.1 475,100
m3

i 2,169, 945

21 i 17,542. 00 123.7 2,169, 945
m3

REE®T 50, 785, 267

X 41, 842, 800

2 =R 50~150mm B A#F 11, 623.00 3, 600 41, 842, 800
m3

ERHL 115,108

23 ERL 569. 00 202.3 115, 108

m3




BEANRE SHBEEEEEEE GHOEMR) EE R ERBERM TS

B 4,387, 200
24 R #A5~100kg/[BRE BAH 914.00 4,800 4,387, 200

3
BEEHLO " 871, 755
25 BEHLO Bet  +20cm 267.00 3,265 871, 755
BRHLO " 1,874, 432
26 #ARHLO BEE#ES  +20cm 523.00 3,584 1,874,432
BRHLG " 1,411,220
27 BEHLO Kep#ifESs  +£20cm 164. 00 8, 605 1,411,220
BRHLO " 282, 752
28 BRHLO Jkep £20cm 47.00 6,016 282, 752
EES ] " 923, 343
RBFEE 923, 343
29 XBFEER 1.00 923, 343 923, 343
HBERERE L) - 1,327, 386
HBEREE 1,327, 386
EES ] 1,327, 386
REER/MD 1,100, 801
30 REE/BO Fh 8BRS 1.00 1,100, 801 1,100, 801

=




BEANRE SHBEEEEEEE GHOEMR) EE R ERBERM TS

REEBRMO 90, 185

31 REERMO ThZE 10RERT 1.00 90, 185 90, 185
%

BitEEE 136, 400

32 BffiEEE 1.00 136, 400 136, 400
=




FIBEEEELEERF (GOEBR) BEE@RIRFERMEGTE

% g R - KSR Bifr 2 B i & B 18
EREIEE 82,257, 939
MEIEH 9,174,726 + 21,148,375 30, 323, 101
HERERE GDH 1,327,386 + 7,279,827 + 567,513 9,174,726
HBRBE (FEL) 1,327,386
HBREE (R) 82,257,939 x 8.85% (7.35% +1.50%) 1,219,827
BSRENER 82,248,339 x 0.69% 567,513
Ri5gEE 91,432,665 x 23.13% (22.08% +1.05%) 21,148,375
TER 82,257,939 + 30,323, 101 112, 581, 040
—REEES 112,581,040 x 15.30% (15.30% x 1.00) — 971 17,223,928
LR E 112,581,040 x 0.04% 45,032
T &l 112,581,040 + 17,223,928 + 45,032 129, 850, 000
HETR SR L 129,850,000 x 10.00% 12, 985, 000
FEIZRE 129,850,000 + 12, 985, 000 142, 835, 000




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

&5 1
& EEUIER Co (FEM) 10m23HY
2 b g - BIRTE BT H = B O %8 # " =
HEER
A 2.00 25,900. 00 51,800
HIRIEXS
A 6. 00 24, 200. 00 145, 200
LEEXS
A 4.00 17,700. 00 70, 800
IS =R o)
B 2.00 353, 950. 00 707, 900
HERE
= 1.00 62, 846. 00 62, 846
HME HERBZR D%
% 7.00 975, 700. 00 68, 299
& B YEZERESN - 10.00m 2 110, 684. 00 1,106, 845
5.2
&% EEEHE Co (FEmM) 10m3HY
2 b g - BIRTE BT H = B O %8 # " =
oV )—rERIEL
m3 10. 00 9, 557. 60 95, 576
& Hi YEZERESN - 10.00m 3 9, 557. 00 95, 576
53
ZF : SHERAER Tm2%Y
2 b g - BIRTE BT B = B Ol %8 # " =
B
m2 1.000 947 947
= it YEEREN :1.00m 2 947 947




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

Hz5 .4
& RELDSHE L ED)
£ b g - BIRTE By H = B ) # & &
HEEE
A 0.075 25, 900. 00 1,942
HIRIEXS
A 0.075 24, 200. 00 1,815
STTL—2yL—y HEEEBESIE] 25t/
B 0.075 52, 000. 00 3,900
HHEE (F50)
= 1.000 7,657.00 0
& Hi 1YEZHES - 10,00 765. 00 1,657
F5 .5
& BB BT HEED)
£ b g - BIRTE By H = B ) # & &
B E W B73
[ 1.000 4,910 4,910
& &t {EZHEH : 1.00[= 4,910 4910
&S .6
& BMLS BT =Y
£ b g - BIRTE By H = B ) # ik &
B B73
t 1.00 40, 000. 00 40, 000
& &t fEZHEH ;- 1.00t 40, 000. 00 40, 000
&5 .1
L WEBER #A100~300kg/EIRE (BEAH) Tm3HyY
£ b g - BIRTE By B = B ) # & &
wER #H100~300ke/{EFEE BEAH)
m3 1.000 5, 800 5, 800
& i 1E%HEH : 1.00m 3 5, 800 5, 800




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

5.8
£ BHBEREA Tm3%Y
£ b g - BIRTE BT H = B O %8 W = " =
HWEAKA
m3 1.000 1,511 1,511
& Hi 1E%HEH : 1.00m 3 1,511 1,511
5.9
&% HEHLD 100m2 %Y
£ b g - BIRTE BT H = B O %8 W E " =
Ny IR (B A X5 RE) 1LF50. 8m3 (FF50. 6m3)
B 1.10 70, 096. 00 77,105/6. 30H / 8H
LEEXS
A 14.00 17,700. 00 247, 800
MR 2RD%
% 0.50 324, 905. 00 1,624
& B YEZERES : 100.00m 2 3, 265.00 326, 529
&5 :10
& HEHLO 100m2 %Y
£ b g - BIRTE BT H = B O %8 W E " =
Ny IR (B A X5 RE) 1LF50. 8m3 (FFE0. 6m3)
B 1.20 70, 096. 00 84,115/6.30H / 8H
LEEXS
A 15.40 17,700. 00 272,580
MR 2RD%
% 0.50 356, 695. 00 1,783
& B YEZERES : 100.00m 2 3, 584.00 358, 478
&5 11
&% BED 30~20mm t=30cm Tm2 %y
£ b g - BIRTE BT B = B Ol %8 W = " =
»ad 30~20mm t=30cm
m2 1.000 2, 541 2, 541
= H YEZEREN :1.00m 2 2, 541 2, 541




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

&5 :12
& BBEQ 5~2.5mm t=20cm Tm2 %y
£ b L - BIRTiE BAf % = B %8 W = " =
=rle) 5~2.5mm t=20cm
m2 1.000 1,785 1,785
= H YEEREN :1.00m 2 1,785 1,785
&5 :13
&% B — FEERD 1H%Y (600m2)
£ b L - IRTiE BAf % = B %8 W E " =
Bifb S — b
m2 660. 00 1, 290. 00 851, 400
LEEXS
A 9.00 17,700. 00 159, 300
MR 2RD%
% 0.50 1,010, 700. 00 5,053
& B YEZERES : 600.00m 2 1,692.00 1,015, 753
&5 :14
&% BAQ® 30~20mm t=30cm 1000m 3 H Y
£ b L - BIRTiE BAf % = B %8 W E " =
BmEDO 30~ 20mm
m3 1, 250. 00 3, 450. 00 4,312, 500
Bk D 180PSE! 3~5tH
B 2.43 153, 267. 00 372,438 8H
Hy b 957K 1.8m3
B 3.06 734, 3217.00 2,247,040/8.00H / 10H
TIL F—H GEH AR RE) 15tk
B 1. 66 68, 325. 00 113,419 5. 00H / 8H
MR 2RD%
% 0.50 7,045, 397. 00 35, 226
& B YEZERES - 1,000.00m 3 7, 080. 00 7,080, 623




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

&5 :15
L BE@ 5~2.5mm t=20cm 1000m 34y
% 5 L - BIRTiE Bf = L= i %5 = & &
BmEQ 5~2. 5mm
m3 ,250. 00 3, 650. 00 4,562, 500
Bk D 180PSE! 3~5tH
B 2.03 153, 267. 00 311,132 8H
Ay b 95782 1.8m3
B 3.06 734, 327.00 2,247,040/8.00H / 10H
TIL F—4 (B A R xR E) 15t#k
B 1. 66 68, 325. 00 113,419 5. 00H / 8H
HEMH 2RD%
% 0.50 7,234,091. 00 36,170
& B YEZERES - 1,000.00m 3 7,270.00 1,270, 261
&5 :16
L L — FEERQ 1B&HY (516m2)
% 5 L - IRTiE Bf = L= i %5 = & &
Bim s — b
m2 568. 00 1, 290. 00 732, 720
B5Rb S — H8ER JL—o R EBMGEEET - 4 L—2iA)
m2 516. 00 1, 950. 00 1,006, 200
& Hi YEZERES : 516.00m 2 3, 370. 00 1,738, 920
&5 11
2 BAOUL—X)D Tm3HyY
% 5 L - BIRTiE Bif = L= i %5 = & &
BFAUL—X)D
m3 1.00 204. 4 204. 4
& Hi E%EEH : 1.00m 3 204. 4 204. 4




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

&= .18
£ BWAL—X)@ Tm3HY
2 b g - BIRTE By = il ) # " =
BAUL—X)@
m3 1.00 204. 4 204. 4
& &t %8 : 1.00m 3 204. 4 204. 4
&= 19
& TREERD FEMEMEIC L 5ERR 100m3LY
2 b g - BIRTE By = il ) # " =
EE M B B & B
B 0.295 98, 640. 00 29,098
HHE (F50)
= 1.000 29, 098. 00 2
& Hi 1E%HEH : 100.00m 3 291.00 29,100
E5:2
& THEERO HBEMREBSA~EI&ER Tm3%KY
2 b g - BIRTE By = il ) # " =
TREERQ BHIRMMRESFT~EI&ERT
m3 1.00 475.1 475.1
& Hi 1E%HEH : 1.00m 3 475. 1 475.1
= : 21
2 b g - BIRTE By = il ) # " =
i
m3 1.00 123.7 123.7
& i 1E%HEH : 1.00m 3 123.17 123.7




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

5 :22
&% BH 50~150mm BEAH Tm3¥y
2 b g - BIRTE By = B ) W = " =
ER 50~150mm BEAFF
m3 1.000 3, 600 3, 600
& B 1E%HEH : 1.00m 3 3, 600 3,600
&5 .23
2% EEHL Tm3%KY
2 b g - BIRTE By = B ) W E " =
ERHL
m3 1.000 202.3 202.3
& Hi 1E%HEH : 1.00m 3 202.3 202.3
5:24
& BE HAES~100kg/EIRE BEAM Tm3%KY
2 b g - BIRTE By = B ) W E " =
BR #AL~100kg/AIEE BEAH
m3 1.000 4, 800 4,800
& B 1E%HEH : 1.00m 3 4, 800 4, 800
&5 .2
& EEHLDO kL +20cm 100m2%Y
2 b g - BIRTE By = B ) W = " =
Ny IR (B A X5 RE) 1L1%50. 8m3 (FEFE0. 6m3)
B 1.10 70, 096. 00 77,105/6. 30H / 8H
LTEEXE
A 14.00 17,700. 00 247, 800
MM 2E0%
% 0.50 324, 905. 00 1,624
& B 1E%HEH : 100.00m 2 3, 265.00 326, 529




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

&S .26
& EBAEHLO RELEFSL  +20cm 100m2%HY
2 b g - BIRTE By = B O %8 W = " =
Ny IR (B A X5 RE) 1L1F%0. 8m3 (F350. 6m3)
B 1.20 70, 096. 00 84,115/6.30H / 8H
LEEXS
A 15.40 17,700. 00 272,580
MR 2E0%
% 0.50 356, 695. 00 1,783
& B YEZERES : 100.00m 2 3, 584.00 358, 478
&5 .27
£ BEHLO KbFEFL +20cm 1B%Y (17.9m2)
2 b g - BIRTE By = B O %8 W E " =
Bkt D 180PS%E! 3~5tH
B 1.00 153, 267. 00 153, 267 8H
MR EXENOY
% 0.50 153, 267. 00 766
& B YEZERESN - 17.90m 2 8, 605. 00 154, 033
&5 .28
W BEHLG Kf £20cm 1H&Y (25.6m2)
2 b g - BIRTE By = B O %8 W E " =
Bk D 180PSE! 3~5tH
B 1.00 153, 267. 00 153, 267 8H
MR EXENOY
% 0.50 153, 267. 00 766
& B YEZERES : 25.60m 2 6,016. 00 154, 033




Rifiz -/ \v7r—o

FIRBFERERER (GOEMR) BRI RIRFERMHGETE

529
2% RBFES 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
RBFEZHFEB
A 73.50 12, 500. 00 918, 750
MR 2E0%
% 0.50 918, 750. 00 4,593
& B 1YE%HeH - 1.00K 923, 343. 00 923, 343
&5 :30
& REERMO FHEE8HEM 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
ZEEEMm FRP D 180PS#Y
B 12.50 87, 626. 00 1,095,325 6.00H / 8H
MR ELNOY
% 0.50 1,095, 325. 00 5,476
& B 1E%HeH - 1.00K 1,100, 801. 00 1,100, 801
&5 : 31
& REERMO mHE108ER IEE)
2 b g - BIRTE By = BHO(f %8 W E " =
ZEEEMm FRP D 180PS#Y
B 0.90 99, 708. 00 89, 737/8.00H / 10H
MR 2E0%
% 0.50 89, 737. 00 448
& B 1E%HeRH - 1.00K 90, 185. 00 90, 185
&5 .32
2% HinEEE 1LY
2 b g - BIRTE By = BHoO(f %8 W = " =
EZRYUITRE
I 1.00 36, 400. 00 36, 400
HEREIMAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 136, 400. 00 136, 400




